giovedi 22 maggio 2014  10.53

Tecs$ST DIFFERENZA D1 PROPORZION]

g%“ﬂ»—»“_«e/ oﬂ/»f co AL OJ{L»L Cﬂww/\\'w»\ ><4/ - XM’V 05(;, (f’)()
\/h ~ Be (P\/) ;MJ,/' S f >JR“M

N\
¢ //]-; T 2

n Na
N N v .
FX: i%ixx':—i ) ce W‘i“‘{"x
Ny Ny
n,
A m —
[DY = a | VV\Z:% y
IAZ




Qe »/ngolﬂvw{, J-zua O(bbj%k@lw%a ol, }"*7“7‘/3_&"\‘ , O~

Ny

A \/W/]_,(_ 4% _ {zu ><b + ;» \/b
N, + N, Ny 4+ 1y

2 |
Doz (Tmfruﬂ‘ o, e N(o//L))

MCI,_:
I b ¢ idobie 4 b6 L Dhdd @ Lo

NS lZ} > C{/L_& ) r\,QJ?jW{W HG ¢ o\.ch/%Q/ Hﬂ

N %N
bo = 2= 0,131 AR U R TR
61 n, 6%

Statistica discreta Pagina 2



@a%/\a/f/ &% Y %M{T ﬂl«‘ u\r»’twi HofJQA:fn 60{‘11:{5,5\’7%43“

%JF/LO - g_:om,d
P’— rz/ 129
/’\—
4 1
S%A~§n:1/f)(i *‘*Q) 4/0““(4"0 )(ma)
= 0,062
~ g _ —
nid)A:\/\,l,y\:\i :MX}—A;—g>D
1 (1 — 9% _

V),L<Q_|2\A>:(34(/l~%);é//lx > - 53>5

I FA< 0,5 | o[%;»t /L_F;\> O,5>[DA
A /N _
no(aope) > NPy >0

_ VAN
Y\Z?n: 6%)‘@. :/.LO>D/‘O’L‘C¢4_J_JDN<0/§-/

‘/\‘2 C/]- r——%r’l> > V]Z rn > 5 ;\,\ 07\/,\4 /M.M._qﬂa
FA - Fh 01310 - 0,1k?
- - - _ 0230
5[5\1‘—”/;'1 0,062

TN .

/K, o.,f&, G/QL——,\-«:./ %:O/Qb—/

~e

- Qoar = 1,96 > [2] D el
cods 4 vl F/ E A, M. C{,l_ﬁzfz/:@/ia

1 _F _Flo3z0)= 081794

2

Statistica discreta Pagina 3



P 1 _0,64R914 = 0,3%207
2

P - 2 . 0,38209 = 0éh

Y. - R TS N SO WUUN ) ER AN O PR . 0

J,L.#%Lu%b- o’{ﬂ V\A—OZAULQ—JM}/ Qp'{ M‘&wgwﬂlp/\wt WZ J,\M‘
ot a&,v Jrafwc\.

—

"Ge/uﬂwh/ I,l } ‘(SuQJ« cﬁ«(, UD{ Px - Fy E Ti_gj -1
Q. % “‘k% Way‘ VLQ coye W¥Wa// BN N B’ C i\m
Lo Tyw Be b Pr = Fy T Gay hA

b i e b b
L -



